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ETOW ped residua  scratch/run15166011.12ped.hist.root, Sun Jun 15 05:34:00 2014

ETOW crate 1 ETOW crate 2
=l =l
j5) j5)
o [N
Qo Qo
[a) [a)
Q [$)
a a
< <

x: chan + 128*crate x: chan + 128*crate

ETOW crate 3 ETOW crate 4
o - 10
jo jol - M
% [ :
a B B FEREERREEE [ERREEEETEE R S Lo
8} o =
a a -
< < F

oEd i i P S N N T O SN T

260 280 300 320 340 360 380 400 420 440 460 480 500
x: chan + 128*crate x: chan + 128*crate

ETOW crate 5 ETOW crate 6
3 10 3 10
S S
o 8 a
g s ]
< <

4

2

0

-2

-4

-6 :

BEdee P e oo oo s :

oFd i i N A A . A A

52 00 620 640 gl 720 740 760

e s 3 b
Sun Jun 15 05:34:00 2014 x: chan + 128*crate x: chan + 128*crate




BTOW residua by crate
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